LOsung:

class KIND{
int tg;
String spitzname;

EINKOMMEN () {
tg = 0;

int erhoehen (int dazu) {
tg = tg + dazu;
return tgy;

void verdoppeln () {
tg = tg*2;
System.out.println (tqg);

int aendern (int tgneu) {
tg = tgneu;
return tg;

int doppeltgut (int faktor, int bonus) {
tg = tg*faktor + bonus;
return tg;

void snErsetzen (String neutext) {
spitzname = neutext;
System.out.println (spitzname) ;

String textAnhaengen (String dazu) {
spitzname = spitzname + dazu;
return spitzname;

void snZusatz () {
spitzname = spitzname + "-Hase";
System.out.println spitzname;

void datenAusgabe () {
System.out.println (spitzname+" bekommt "+tg+"

}
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